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(1) ~ [10%])
(a). B T16ifaess R 54+16C o
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(2) ~ [10%]

What problems arise when we- represent an ordered list by a
contiguous data structure ?

(3) ~ 110%]

Given an array A(20,100) stored in row major order, find the address
of the element A(7,25), given that the location of A(1,1) is 80.

(4) ~ [10%]
Consider the following linked list :

"= [CAT3—>{008 (8RO [3—>{ToN [3—>{TieeA T

Where T is a pointer to the beginning of the list and each node
contains two fields DATA and LINK. What is the result of applying
the following algorithm to the list (i.e. draw the resulting list) 2

P«T
- WHILE DATA (P) # "BIRD"
DO '
P<—LINK(P)
END
Q<LINK(P)
LINK(P)+ {)

(5) ~ [10%)
(a). Given an expression for the number of passes required to sort a
list of N items using the two way merge sort,

* (b). How much storage is required to sort N items using the two way
merge sore?

(6) - [20%]
BETH L1 :
(a). Index (b). Buffer
(¢). Hashing - (d). Auxiliary memory
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(7) ~ [10%]
Give the binary tree repesentation of the following tree :

(8) ~ [20%]
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